
Math F���: Section �.�Worksheet February ��, ����

�. �e volume of a snowball of radius r is V(r) = (���)πr�, where r is measured in inches
and V is in measured in inches cubed. Explain what V ′(�) ≈ ��.���means in language
your parents could understand.

�. Compute d
dx cot(x)

�. Compute d
dx sec(x)

"
As the radius of a snowball with 2 inch radius increases

the volume of the snowball narcoses at the rate

of 50,265 inches !
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Math F���: Section �.�Worksheet February ��, ����

�. Compute the second derivative d�

dx� e
x cos(x)

�

Start with just one derivative :
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�. Find the equation of the tangent line of the graph of y = sin(x) at x = π��.

�
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slope : y'G) = dqysihlx)= cost)
Y'( Ms)= cos = tz

Point - slope form :
( Y - yotmcx- xo))

y=Ezttz(x - Iz)
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�. A �� foot ladder rests against a wall. Let θ be the angle between the ladder and the wall
and let x be the distance from the base of the ladder and the wall.

a. Compute x as a function of θ.

b. How fast does x change with respect to θ when θ = π��? Include units in your
answer.
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